Solution fpd and bpe problems 

Name _______________________________

___________1. A solution of calcium nitrate, Ca(NO3)2, contains 2.95 g of solute in 500 g of water.  What is the molality?

___________2.  What is the mass of H2O in a 2.5 m sln of calcium nitrate if the mass of the solute is 24.2 g?

___________3.  What is the freezing point of a solution of a nonelectrolyte dissolved in water if the concentration of the solution  is 0.24 m?

___________4.  What is the freezing point of a 0.850 m aqueous solution of sugar?

___________5.  What is the freezing point of a solution that contains 68.4 g of sucrose, C12H22O11, dissolved in 1.00 x 102 g of water?

___________6.  A solution contains 4.50 g of a nonelectrolyte dissolved in 250 g of water and has a freezing point of -0.310 °C. What is the gram molecular mass of the solute?

___________7.  A solution of a nonelectrolyte contains 18.0 g of solute in 2.00 x 102 g of water.  Its freezing point is -2.79 °C.  What is the gram molecular mass of the nonelectrolyte?

 ___________8.  If the molal boiling point constant of carbon tetrachloride is 5.03 °C/m and the boiling point is 76.8 °C.  A given solution contains 8.10 g of a nonvolatile nonelectrolyte in 300 g of CCl4.  It boils as 78.4° C.  What is the gram molecular mass of the solute?

___________9.  The molal boiling point constant of ethyl alcohol is 1.22 °C/molal.  Its boiling point is 78.4 °C. A solution of 14.2 g of a nonvolatile nonelectrolyte in 264 g of alcohol boils at 79.8 °C.  What is the gram molecular mass of the solute?

___________10.  A solution of NaNO3 contains 34 g of solute dissolved in 100 g of water.  What is the molality of the solution?

___________11.  What mass of AgNO3 has been dissolved in 200 g of water if the molality of the solution is 0.300 m?

___________12.  What is the freezing point of a solution of ethyl alcohol (C2H5OH) that contains 20 g of the solute dissolved in 250 g of water?

___________13.  How many grams of ethylene glycol, C2H4(OH)2 must a researcher add to 500 g of water to yield a solution that will freeze at -7.44 °C?

___________14.  How many grams of NaCl are required to raise the boiling point of 1.00 kg of water 1.5 °C?

___________15.  What is the molality of a solution made from 31 g of NaCl and 559 g of water? 

